dinmqu Q +38 0960110103

DIN 3402 Npec-MAaCAbOHKA

D6,502

A 180° = )

ad

B 45° P .
- 1 - - I o5
LOd / I
k
Q p
C 90° . me
J
g ==\ Os j NCs
i ! +
Od
Poawmip/AiameTtp

dopma CTdAb
CT:’I\:GO"" HepX. A1 | AaTtyHb
(1.4305)

M5x0,8| 14 7 1 | 2100701 2110702

M6x075| 14 55 7 1 | 2100703 - 2110703
M6x1 14 5,5 7 1 | 2100704 S 2110704
M7x1 14 5,5 9 1 | 2100905 - -
M8x 1 14 5,5 9 1 | 2100907 | 2120907 | 2110907

Mex1,25| 14 5,5 9 1 | 2100908 - :

1/2

www.dinmark.com.ua

info@dinmark.com.ua




o Q +38 0960110103
inMrark

Poamip/AiomeTp
M10x1 l 2101109
miox15] 14 55 - ¢ 11 i - 2101111 -
R1/8, 1/8-
oBBSP 14 5,5 s . 11 ] - 2101156 [ 2111156
R1/4, 1/4-
AENS 16 6,5 - - 14 ] \ 2101457 | 2111457
R3/8, 3/8-
1omsp | 175 8 - - 17 ] - 2101758 2
M6x1 19 5,5 - 9 O 45° 2204504 -
M8x1 19 5,5 - 9 9 ] 45° 2204507 -
19 5,5 - 9 9 [l 45° 2204508 -
mex1,25| 19 5,5 - 9 11 ] 45° - 2111458
20 5,5 6 9,5 11 ] 45° - 2111470
M10x1 14 55 - 9,5 11 [l 45° 2204709 -
20 5,5 6 9,5 11 ] 45° - 2111471
M10x1,5
27 5,5 9,5 9,5 11 ] 45° 2204711 -
R1/8,1/8] 14 5,5 4 9,5 11 ] 45° 2204756 -
28BSP 14 55 - 9,5 11 ] 45° - 2111460
R1/4 1/4- °
19BSP 22 6,5 S 11,5 14 [l 45 2201457 -
M6x1 18 55 - 13 9 O 90° 2304504 _
M8x1 18 5,5 2 13 9 ] 90° 2304507 -
18 5,5 S 13 9 O 90° 2304508 -
M8x1,25 18 5,5 - 13 9 ] 90° 2111461* -
19 5,5 - 13 11 ] 90° |2111468* s
M10x1 18 5,5 - 14 11 ] 90° 2304709 s
m1ox1,5] 19 5,5 - 13 11 ] 90° N 2111469*
R1/8, 1/8- °
2BBSP 18 5,5 - 14 11 O 90 2304756 -
R1/4 1/4- o
1omsp | 225 6,5 - 15 14 [ 90 2301457 -

2/2

www.dinmark.com.ua

info@dinmark.com.ua




